OUR LADY OF THE SACRED HEART COLLEGE

KENSINGTON
. 1
\@ ST ~NAME / NUMBER, /.
2 =X MATHEMATICS TEACHER“/
|
2005
Year 9
Mathematics : /
Timé allowed : 45 minutes - | | ,-/
Assessed b‘utcome; = ,

s PAS5.3.1 Uses algebraic techmques to simplify expressions, expand binomial products and
factorise quadratic expressions

¢ PAS532 Solves linear, quadratic and snnultaneous equations, solves and graphs
inequalities, arid rearranges litefal equation

s NS5.1.2 Solves consumer arithmetic problems involving earning and spending money

® NS3.2.2. Solves consumer arithmetic problems involving compound intefest, depreciation and
successive discounts

Directions to Candidates

o Therg are 4 sections j
o Section 1: PAS5.3.1 (12 miarks) /

o Section 2: PASS5.3.2 (13 marks) //
o Section 3: NS5.1.2(17 rnarks) /
o Sect10n4 NS5.2.2 (3 marks) /

[
¢ Show aH working on the paper /
¢ Good Luck!! /

Year 9 4

Task— Consumer and Algebra 2005

[ |@uteorie | .
1 | PAS . Expand these binomial products.
5.3.1 )
a) (x+3)(x+4)
b) (5a—6)(5-3)
o i
2 PAS Find the area of the following
5.3.1 | réctangle in simplest form.
(2x+3)
{
(x—4)
PAS Complete the foilowing perfect
5.3.1 square.
a) (a+b)?
“1PAS Expand the perfect square
53.1 a8  (6-2)°
PAS Expand (2a+3)(2a-3)
5.3.1 ’
I
\
|




" Year 9 Assessment Task — Consumer and Algebra 2005

—
6. | PAS State whether the expression .2
5.31 4x? +6x +9 is a perfect square.
Include a reason for your answer. ‘ L
TOTAL FOR PAS53.1 "D /12
7 | PAS Write an algebraic expression for t
532 | each of the following:
a) the sum of p, x and 7. { 1
|
b) 9 times the number thatis 5 || 1
less than p. I
8 | PAS . Solve the following:
532
<! 2/ 1
a) -6 2
S x o x
bnN—+==3 2
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1t Task — C and Algebra 2005

Year 94
B EC
5
2
9 | PAS If the perimeter of this rectangular 2
532 block of land is 46m, find the length
: and width of the block. ~

(x+3)m /
]
xm \

N = >

DI

Tim is twice as old as Sally. What
are their present ages if in 10 years”
_time their ages will add to 89?

S
J "f)
8 7

5.1.2

How many toys did she make if she
earned $469.30

————

= TOTAL FOR OUTCOME 5.3.2 713
11 | PAS Jane is paid $450 per week.
5.12 , / L’
a)What is her annual salary? f 1
b) Calculate her fortnightly salary? ‘/1
12 | PAS Gaynor is a process worker who is . - 1
paid $12.35 for each toy she makes,

i,
Ao
%




Year 9 Assessment Task — Co

and Algebra 2005

13 [PAS.
512

John is paid a weekly retainer of

$250 plus a commission of 3% on /
the value of his sales. How much /
would John earn in a week where he | |
sold $15 500 worth of goods: -

N
]
1%

Year 9 Assessment Task— Consumer and Algebra 2005

| Greg cams a Salary of $29 000 per |
annum and he receives a pay rise of \
4%, What will his salary be after the
pay rise. \

15 | PAS
5.1.2

Read the following quote by Louise
Dodson (Sydney Morning Herald, ||
May 11, 2005) about the recent
budget.

W From July I the top tax rate of
47 per cent will not kick in until a per
son earns $95.000 a year - up from
$70,000. , .

oowFor the lowest income
earners the marginal tax rate drops
from 17 to 15 per cent. ”

. (g () ~

Explain what this statsment means,
perhaps including an example to
substantiate your words. .

b. Helen would be allowed tax
deductions of $654 per annum and

union fees of $134 per annum.

i) Calculate her taxable
income.

if) Using the tax table below
calculate the tax payable.

N

‘$6001-$2o 000

. $20001-$50 ooo N
f $50001-$60000 _

$6O 001 and over

me o Tax payable

17 cents for each $1 over $6000

$2380 + 30 cents for each $1 over $20 OOO

$11 380 + 42 cents for each $1 over §50 000 ;
$15 580 + 47 cents for each $1 over $60 000 ;

16 | PAS
512

*| Helen has applied for the foHowi'ng-j ob advertisement,

Austr;hasn resitient,
permit. Selection cn eria and_enquirie:*Joan)
| 98456015 or joanné bvsogho@wgahs -ASW.gov.a

Weslmead Hospital 251/45000:1570 Gigse Daté: 20.05,05°

A

a. After reading the advertisement

what would be her annual salary?

It

W

i) Calcitlate the Medicare levy by
using the table below.

2

" Taxable income _
$1—$13 807 _ Ni{_ o
' $13 808—$14 926

. $149§7 and over )

Medicare levy

" 20 cents for each $1 over$13 807 B

k Flat 1 5% of taxable income

o et

N

TOTAL FOR OUTCOME NS5.1.2

o .
//177




Year 9 4 Task— C and Algebra 2005 3
17 {PAS T Supre are having a 25% sale on all 2
522 stock. You see a dress you like for
$40. -
a) Calculate what you pay for
the dress with the discount?
1

b) If you pay by cash you
receive a further 5%
discount. What price
would you pay for the dress

with this further discount?

] [ OUTCOME FOR NS5.2.2

’7 .
DB ]

REDO ANY QUESTIONS HERE. CLEARLY MARK THE QUESTION.

CHALLENGE |

'ONLY ATTEMPT THIS QUESTION IF YOU ARE FINISHED. It is not counted in your marks but
maore to encourage thinking,

Expand and simplify

2x{9x~2 )




[' Y 3 Ug é {/% Year 9 Assessment Task — Consumer and Algebra 2005

OUR LADY OF THE SACRED HEART COLLEGE
KENSINGTON

{ - @uteonize |
4 i ‘v ) ) ; ' v
mmsms 1 |PAS Expand these binomial products. -
/ 53.1 , \
| ‘\‘ep}) STUDENT -~ NAME / NUMBER...... Ifmmslxd ........ s D) et I+ ) 4)@33 Coe v W) 2
v (’l . ‘: .
. MATHEMATICS TBACHER ..Msa..... e urd@in.... Ly lac + 3 v\
— =9 \/
_ L7 Fao A D /
2005 . . '
. b) (Ga-6)6-3) o ~6) (b-3) Y 2
T 5 AL
Year 9 @ Do - 1ba -6l g/l
o\
Mathematics . - S .
. 2 | PAS Find the area of the following - .
. . 5.3.1 rectangle in simplest form. X +3) (:ﬁ/ - uj 2
Time ‘all.owed ¢ 45 minutes (2x+3) . ; ;1 . 2 g e x Boc- (9

2 dx*Boe 1)V

Assessed Outcomes

(x—4)

¢ DPAS5.3.1 Uses algebraic téchniques to simplify expressions, expand binomial products and
factorise quadratic expressions

e PAS5%¥2 Solves linear, quadratic and simultaneous equations, solves and graphs 3 |PAS Complete the foilowing perfect 3
inequalities, and rearranges literal equation ‘ 53.1 square. (e ¥ v)
* NS5.1.2 Solves consumer arithmetic problems involving earning and spending money : n N b a / 1
® NS5.2.2 Solves consumer arithmetic problems involving compound intefest, depreciation and a) (a+bd)’ 4 ég“\' dab ¥ ’
successive discounts
' 4 | PAS Expand the perfect square (G- 2y Y
Directions to Candidates | 5.3.1 a)  (9-2v)? ! 2
o There are 4 sections .- ‘ ' : j & /
: * - . - + 'R
o Section 1; PAS5.3.1 (12 marks) ggf ‘ R 36y + Ay
o Section 2: PAS5.3.2 (13 marks) % — - -
. © 5 |PAS Expand (2a+3)(2a-3) Qo132 a-3)
o Section 3: NS5.1.2(17 marks) 2 531 , W 1
o Section 4: NS5.2.2 (3 marks) o=
. ./% ) Ua* ~fa +Ca =4
¢ Show all working on the paper. z /
e Good Luck!! bo* ~ Q.




Year 9 Assessment Task — Consumer and Algebra 2005

Year 9 Assessment Task— Ci

and Algebra 2005

. te whether thy i 7 A . .
6. | PAS Staze whether . ¢ expression No it s neb a- 2
5.31 4x* +6x +9 isa perfect square. - )
Include a reason for your answer. perbeck squavte e for 2
& yo e e,k':(:(?ﬁf»t\al\ /
2
wontd e oty Tlav @ o
TOTAL FOR PAS5.3.1 D /12
7 | PAS Write an algebraic expression for !
532 each of the following: Qv v 3 o
a) the sﬁm of p, xand 7. D i ’4' = Q. e 1
b) 9 times the number that is 5 1
less than p.
8 | PAS Solve the following;: P
532 al LA 1
2) -6 <% 2
P A L < Q
~0 <& /
NEIEN N >-1a , )
8 6 q. e
WrE X T 204
\ \ o
2

earned $469.30

3(x~2) .
d) Tﬂ L.~ B \
& - 2
S3a-6= \x 5
=5
o = ‘?3 LS
Tz 3 = ‘/
9 | PAS If the perimeter of this rectangular ( 2
5.3.2 block of land is 46m, find the length ] 2 -
: and width of the block. ~ ANt D) v Qx' - LL
@3 m 2tk v 200 =G
boo = 4G~ 6
rmo o d¥as 10m = 40
10)| PAS Tim is twice as old as Sally. What FUANPW 2 VL 2
O 532 are their present ages if in 10 years’ i 3 %L \ / S‘ o / ;ﬁé
time their ages will add to 897 it . .6 A5
‘ ’ : D \ % 300
o T 37
30 o 5&] ‘3 )
B 6 X~
o 3
T = : . .
- TOTAL FOR OUTCOME 5.3.2 ‘ K /13
11 | PAS Jane is paid $450 per week. . ‘
512 A4O0 x5 0= 23 4oo |/
a)What is her annual salary? A Yo =>a\adf} 1
b) Calculate her fortnightly salary? V) 450 x L =$4900 ‘gﬁ“‘f]wj‘/l
12 | PAS Gaynor is a process worker who is 1
512 paid $12.35 for each toy she makes. w = 3% deu < //
How many toys did she make if she . .26 EQJJ T
123

H
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Year 9 Assessment Task—- Consumer and A Igebra 2005

Year 9 Assessment Task — Consumer and 4 lgebra 2005

13 [PAS

b. Helen would be allowed tax
deductions of $654 per annum and

union fees of $134 per annum.

i) Calculate her taxable

ii) Using the tax table below
calculate the tax payable.

Jhu 132 - (Leu v BW)
> 43300

income.

B257 21 ) om
2% %02 G‘gk(k'k"g”)“r‘\—2®10co)
= 2330 +0:3,L 33 3%

=23%0 + Foo0%. 3

= 3943935 \//

, "Taxable income
$ l—$6000

’$6001—$20 ooo

. $20001-$50 ooo o

Tax payable
Nil
17 cents for each $1 over $6000
$2380 + 30 cents for cach $1 over $20 OOO
$11 380 + 42 cents for each $I over $50 000 :
$15 580 + 47 cents for each $1 over $60 000 '

if) Calculate the Medicare levy by
using the table below. . 2

®

* Taxable income

813 808-$14926

Medicare levy
Nil : - -0\

20 cents for each $1 over $13 807 E

John is paid a weekly retainer of ] 2
5.12 $250 plus a commission of 3% on 8- 0% 0900 = 465
the value of his sales. How much ji a0 . i
would John eamn in a week where he 6o+ 230 - §.}\%‘/’/
sold $15 500 worth of goods. - Vv
14 | PAS Greg earns a salary of § 29 000 per o n . / 2
> R
512 anmum and he receives a pay riseof | <1 000 ¥ 0-C4 = {j o v
4%. What will his salary be after the il (o + 249 0(’.({} %%3%
pay rise. QE&@&V/
15 | PAS Read the following quote by Louise ) 2
512 Dodson (Sydney Moming Herald, Yret  Coginn
May 11, 2005) about the recent
budget.
W\ Fréom July 1 the top tax rate of
47 per cent will not kick in until a per-
son earns $95.000 a year - up from
$70,000. , .
o owFor the Iowest income
earners the marginal tax rate drops
] from 17 to 15 per cent.”’
- (fage 1)
(7-) /’Zl//t)/a ,(Méér cmlg ,bajj f?’
5414[ ,g,rn,.:pujo 4»&13‘1}6
Q/) y y Muea«, 20,086 & FEOV0 peoredionn,
. ,3)44_ 74‘2% Explain what this statsment mearns,
) 2¢.""} perhaps including an example to R
| substantiate your words. : A .
16 | PAS '| Helen has applied for the followmg job advertlsement |
5.1.2 Tg lax prached we .
chan AR fren~ §T0 00
to £ a60 . Tl
[l iaans (AL os carnuns’
Ii > Fo Co0 ut iy PM/\) les
A bax g Haone Pore hafo
Tmi ) o . .
8845 8012 g? jggng; %ﬂ'saogﬂgéxggﬁs' nsw?;ovau 2 Wiov  nek VA (¥
Westmead Hospial 251/45000-1579 Clase Date: 2 ns 05 lla,o o M COMA Aoy Y S
“""“ Y R I £ P U N Y chhowy s
“:d‘c)w\«‘ . )l +® ‘IS 4 IV A0 TR, %/\, N Y LT
a. After reading the advertisement $ - / 1
Jy e,
what would be her annual salary? 44 132 .

$14 927 and over. Flat 1 5% of taxable income
bYiuz34 xo-015
494 .
TOTAL FOR OUTCOME NS5.1.2 / n7




)

Year 9 4s. Task~ Co and Algebra 2005
17 | PAS » Supre are having a 25% sale on all . 2
522 stock. You see a dress you like for a) 0. 2 5 x Y 6: A0
$40.
a) Calculate what you pay for q O~-10 = §30 -
the dress with the discount? . . g 30
Yo wa bmﬁ ‘// L
1
b) If you pay by cash you 5%, x 20 = l. &)O
receive a further 5% 0o -
discount. What price \ )
would you pay for the dress 20 -1-90 :$ 2%-50 /
with this further discount? ) ,
You wi]\ Pav %‘;266 E)o
- 2
OUTCOME FOR NS5.2.2 ) B

REDO ANY QUESTIONS HERE. CLEARLY MARK THE QUESTION.

CHALLENGE ]

"ONLY ATTEMPT THIS QUESTION IF YOU ARE FINISHED. It is not counted in your marks but
more to encourage thinking.

Expand and simplify I {8 o ? ,ZS
(2" — BGoes) + 4t
2x(9x~2y)? 7/ ) 7%7 Lj
N N : = J62x"— 72%25( +€xa7’




